FE
=103
FEEERER
BE—FTTMFE+ —A=+—HILFE
—ZETNE —ET=F
FET FET
PNERSES iy 267,126 463,252
A
HEXBRMERERER 2WEAREF (77,430) -
rE R 4,065 3,750
REERZAEEFRE 2 REHE (W) BB (3,344) 155
HEBHFRE 2B # R W (2,778) (2,300)
HERE M 2 B8 () 100,803 (72,857)
RFEYERER T = (21,659)
BRAENE—MHE AR 2 WS = (2,175)
WHIEER REREIR 5,449 376
FLEWA (67,710) (54,419)
LEWZ - s REE 2 EE — 967
BB SE ] IR EASE 2 g = (15,600)
BEamE (39,428) (56,510)
BHIRITERZ R FKAR 1,535 1,200
EE = 5|82 EREHL M 14,045 -
RETEEZESEHR 2 LERERE 202,333 244,180
T8 (g md (846) 6,641
RFEYZEIE I (1,620,767) (16,582)
FEWRIE - e RIBFFRIBR A GG 0) 186,065 (98,426)
FERTFIE - BiRS RIENERRD (29,312) (556)
BWAFEYIR 2 HERSE () N (24,320) 71,902
K& (FER) s e (1,286,847) 207,159
B UF S 78,546 50,809
ERRITEEMEENSRBEER (145,910) (177,109)
BRI 2 (51,141) (20,450)
RE (B BBEREH 627 (9,016)
RE(BAD) BN 4,556 (5,989)
ReEEK (A EzRE (1,400,169) 45,404
=
7
i
=
a
i
)]
gl




104 =
2004
AN
an\ Iﬁvﬁﬂll’ii’%
HE—_FZPFEf —_A=+—HILFE
—ETNE —EE=F
et FHET FEIT
REEK
BAKEMZE (164,276) (15,229)
HEREMESRIE 830,275 2,169,815
BAYE %%%%&W% (371,839) (131,730)
MEYEE - WS RREFTSEUR 991 2,369
Bl —EEE AR E 2,987 5,226
BAZBHKE (12,428) 7)
ﬁ:.m%‘%xéfﬁ SHIE 37,338 4,968
HEZEREQREEHIE = 66
(ERidiNCIN= 68 (537) (2,020)
A UCE FRIE N (74,502) (480)
EEEMERER 65,439 79,646
EE—HEENBEAR—REZEZ2ER 1,638 -
B IRERT T 50 (3800) & > (69,214) 88,089
SRS ERZEE (38,801) (9,912)
BAMB A RREIMERS (28,716) (707,049)
BAMBAR (BEHREAZRE:MREEE) 40 36 -
HEWBAR BHREEZEERREER) 41 53,436 -
REXKB 2R FEE 231,827 1,483,752
EEBITREMER (3,870,495) (1,854,191)
YRR B (7,987) -
RITREMERZES 3,994,212 1,331,836
LEHREFE (BE) KE 2,581 (45,893)
BT TSR 402 -
m) D SIS SRR A IR B = (27,170)
B2HE A RFIE = (3,272)
BEmERERIE = (2,683)
BMETESES A 2RHEFHE 118,713 (601,373)
HERBESEE (R & iNFEE (1,049,629) 927,783
RENEEZRERREESEE 1,811,232 722,825
ERED) L (29,287) 160,624
3 REREEZRERBELEE
B BRITRTERIER 732,316 1,811,232
fw
8
2
#
=




